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(a) Define the following as precisely as you can:
(i) The concept of a Nash Equilibrium,;
(i) The concept of Pareto Efficiency.

(b) For the game below determine:
(i) The Nash Equilibriums;
(i) The Pareto efficient allocations.

(iii) What is the likely outcome if player 2 is allowed to move first?

Player 2
L C R
T (-1,2) O, 1 (3,2)
Player 1 M (6, -2) 4,4 (1,3)
B 2,2) 0, 2) (-2, 5)

Payoffs are shown as (player 1, player 2)

(¢) Explain the concept of comparative advantage.

(d) Describe one policy that a country may use to increase its exports.
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2 (a)

functions:

(b)

Sketch the indifference curves associated with the following utility

i Uxy=x
(i) U(x,y)=x-max(y-x,0)

Explain the probable current consumption and saving behaviour of a student

aged 21 if he or she was behaving according to that predicted by the life cycle

hypothesis.

(©

(b)
©
d

Explain the impact of the following on the level of consumption:
(i) atemporary decrease in the rate of income tax;

(i) a fall in import prices.

What is the economic case against monopolies?
Explain the concept of a single European market.
What are the potential advantages of the single European market?

What are the potential advantages of single European currency?
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4 (a) Two firms, A and B, producing an identical product have the following cost
functions:

Ca=qa’
CB = 2q132

where g, is the output of firm A and qg the output of firm B. The inverse demand
function for their product is:

P=150- Z(qA + (lB)
where P is the market price.

(i) Determine the Cournot equilibrium output for each firm and the profits
each firm makes in equilibrium.

(i) Why is there likely to be an incentive for the two firms to collude?

(b) What are the main sources of economic growth in the neoclassical exogenous
growth model?

(¢) What policies can Governments implement to improve the rate of economic
growth?
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